N of reco track vs pT

=
o
cl
T

[N of associated (recoToSim) tracks vs pT

true tracks

trag‘lg sz (Ge\})03

fake tracks

N of associated (recoToSim) duplicate tracks vs pT

duplicate tracks

]

tracks
T

= -2 -1 0 1 2 3
track n

tracks

track ¢

true tracks

=
Q
=

a.

=3

-2 -1 0 1 2 3
track n

N of associated (recoToSim) tracks vs phi |

true tracks

fake tracks

Ratio

fake tracks

ARSI

track n

duplicate tracks

P
o
R

10

-1 0 1 2 3
track n

N of associated (recoToSim) duplicate tracks vs phi |

duplicate tracks

=
o




	Contents
	Page 1


